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QUESTION 16 
DRAG DROP 

 

Drag and drop the FLOGI parameters from the left onto the descriptions from which they were-derived on the right. 
 

Select and Place: 

 
 
Correct Answer: 

 
 
 

QUESTION 17 
A storage network engineer is implementing a port channel for multiple FCIP interfaces with write acceleration in a client’s storage network. Which channel mode 
must be used? 

 
A. on 

B. passive 

C. active 

D. force 

 
Correct Answer: C 

 
QUESTION 18 
A storage administrator wants to enable NPV in a Fibre Channel edge switch. Which configuration is supported in this mode? 

 
A. Cisco Fabric Services distribution over Fibre Channel 

B. E Port connectivity to the core switch 

C. local switching of east-west traffic 

D. Dynamic Port VSAN Membership 

 
Correct Answer: A 

 

QUESTION 19 
Which configuration is always required when running the setup utility on a Cisco MDS 9000 Series Switch? 

 
A. administrator password 

B. management IP address 

C. active NTP server 

D. active default gateway 

 
Correct Answer: A 

 
QUESTION 20 
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A network engineer is configuring a Cisco MDS switch for FCoE. Which two conditions must be considered during the implementation phase? (Choose two.) 
 

A. On Cisco MDS switches, system-defined class maps for class-FCoE and class-default are enabled but can be deleted. 

B. The QoS policy must be identical to other Cisco FCoE switches in the network. 

C. On the Cisco MDS, the MTU is set equal to 2112. 

D. VLAN 1 or the native VLAN can be mapped to an FCoE VSAN. 

E. FCoE is already enabled on a Cisco MDS switch. 

 
Correct Answer: BE 

 
QUESTION 21 
Which port mode is used on an NPV device to connect to an NPIV core switch? 

 
A. E 

B. F 

C. N 

D. NP 

 
Correct Answer: D 

 
QUESTION 22 
A storage administrator is configuring inter-VSAN routing on a fabric that contains duplicate domain IDs. Which feature must be configured to ensure continued 
operation? 

 
A. auto topology 

B. transit VSANs 

C. IVR NAT 

D. virtual domains 

 
Correct Answer: C 

 

QUESTION 23 
Which EtherType is used by the FCoE Initialization Protocol? 

 
A.  0×8913 

B.  0×8914 

C. 0×xfc0e D.  

0×8906 

 

Correct Answer: B 
 

QUESTION 24 
What is the function of the 0xFFFFFC address in a Fibre Channel fabric? 

 
A. management server 

B. fabric controller 

C. name server 

D. time server 

 
Correct Answer: C 

 
QUESTION 25 
Refer to the exhibit. 

 

 

Which configuration change improves the ability of the link to recover from frame loss? 

 
A. Increase the reset timeout. 

B. Enable selective acknowledgment. 

C. Increase the send buffer size to 15000 KB. 

D. Disable PMTU discovery. 
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Correct Answer: B 

 

QUESTION 26 
An engineer is configuring a SAN environment and attempts to activate a zoneset, but a lock is held by another user. Which argument does the engineer use to 
clear the lock from the zoning database configuration? 

 
A. commit 

B. abort 

C. clear 

D. force 

 
Correct Answer: C 
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